Topic 8 — Metabolism, Cell Respiration, and Photosynthesis

Chlorophyll A and chlorophyll B are the two main pigments in plants that absorb light. Photosystems
are large groups of pigment molecules.
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Formation of ATP: ATP is
formed using ATP synthase and a proton gradient. The protons flow back through the membrane,
down the proton gradient, and the energy released is used by ATP synthase to produce ATP. This is
chemiosmosis.
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The light-independent stage occurs in the stroma. It is referred to as the Calvin cycle. Carbon, in the
form of carbon dioxide, is ‘fixed’” and built up into sugars.
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